Vx estimate km/s

Ratio (Tx estimate/Tx)

300

250

N
(@]
@]

150

100

50

2.0

o

o

©
&

0.0

Vx vs Vx
— T T T
I s
i . ;o]
L Density: 1.0 Vth,km /s (T,eVy ]
~ Flow Angle (azi, lat): 0.0, 45.00 7 .
[ Tperp/Tpara: 1.0 25. (/3.) 1
I 50,1 13.) ]
L P ]
i 7 ]
I 100. ( 52.) ]
I 150. (117.) ]
i 200. (209.) ]
i 250. (326 ]
I 300. (470.) ]
VN N N R
50 100 150 200 250 300
Vx km/s
Tx vs Vx
———— T
_ \\\ |
P R I S BRI R
50 100 150 200 250 300

Vx km/s

-3

N estimate cm

Ratio (Ty estimates /Ty)

3.0

2.5

2.0

0.5

0.0L

2.0

0.5

0.0

N vs Vx

T B SR BN B R
0 50 100 150 200 250 300
Vx km/s
Ty vs Vx
——— T
N |
L -
T B R B SR R
0 50 100 150 200 250 300
Vx km/s



Vx fit km/s

Ratio (Tx fit/Tx)

300

250

200

150

100

50

2.0

o

0.5

0.0

Vx vs Vx (fit)

—— e T
I s
L / i
L Density: 1.0 / ]
~ Flow Angle (azi, lat): P4 #£00 // .
| Tperp/Tpara: 1.0 s ]
L P -
L P -
L p _
L p i
L P -
I / ]
— / =
L / i
L s i
L v |
L Vs i
— / =
L /, i
L / _
I / ]
A N R R R R
0 50 100 150 200 250 300
Vx km/s
Tx vs Vx (fit)
e e
N B R N B B
0 50 100 150 200 250 300

Vx km/s

N fit cm™®

Ratio (Ty fit/Ty)

2.0

o

0.5

0.0

N vs Vx (fit)

50 100 150 200 250 300
Vx km/s
Ty vs Vx (fit)
——— T T
T B R B SR R
50 100 150 200 250 300
Vx km/s



